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B.Com. 1st Semester (Honours) Examination, 2019-20

COMMERCE

Course ID : 11211 Course Code : BCOMH-101C-1

Course Title: Financial Accounting-1

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions:
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(a) What is Contra Entry?
Roidte wifden 2

(b) What is Journal?
il 2

(c) What do you mean by Contingent Assets?
ARy I @I F @IEN?

(d) What is meant by ‘Mixed Basis of Accounting’?
i forraze’ qeTce (@I ?

(e) What is compensating error?

TR WS g 2

(f) How do you value consignment stock?

MCS BRI sl of FIeF R FACE 2

(g) What do you mean by Renewal of Bill?
ReTa aad JeTCe @R 2

(h) What is del credere commission?
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2. Answer any four questions: 5%4=20
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(a) Distinguish between Profit & Loss A/c and Income & Expenditure A/c.
AewFied IR R SIRIER ZAEa sy oy Wi FEt

(b) From the following particulars, prepare the Bank Reconciliation Statement:
(i) Bank Overdraft as per Cash Book ¥ 16,200.
(i) A cheque deposited into Bank but not recorded in the Cash Book I 700.
(iii) A cheque for ¥ 4,000 deposited but collection as per the Bank Statement I 3,996.
(iv) A cheque deposited but not yet collected by the bank ¥ 2,320.
(v) Bill collected directly by bank ¥ 3,500.
[ZAG! 2 73]

(c) On careful examination of Books of Account, you found the following mistakes:
(i) Wages paid for installation of a machine for ¥ 300 wrongly debited to Wages
Account.
(ii) Repairing charges of ¥ 100 for machinery was wrongly debited to Machinery Account.
(iii) Goods sold to Mr. X for ¥ 500 wrongly debited to Mr. Y’s Account.

Rectify the above errors.
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(d) How does Joint Venture differ from Partnership?

@Y Tomlel 8 AR Wy NS @@L e

(e) The book value of Plant and Machinery on 01.01.2015 ¥ 10,00,000 in the books of
M/S S. Bros. New machinery for ¥ 50,000 was purchased on 01.10.2015 and another
machinery of ¥ 1,00,000 on 01.07.2016. On 01.04.2017, machinery (Book value had been
T 1,50,000 on 01.01.2015) was sold for ¥ 80,000. Depreciation had been charged at
10% p.a. on Straight Line Method.

Show the Machinery Account from 01.01.2015 to 31.12.2017 assuming that book value
of Plant and Machinery on 01.01.2015 indicates cost price of the assets.
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(f) Explain the objectives of trial balance.
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3. Answer any one question: 10x1=10
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(a)

(b)

What is meant by Single Entry System of Book-keeping? How profits or loss can be
ascertain under Single Entry System? Mention two major defects of Single Entry System
of accounting. 2+6+2=10
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A consigned 5000 kg. of tea costing ¥ 40 per kg. to B. A incurred ¥ 3,000 on freight and
< 2,000 on insurance. 500 kg. of tea were lost in transit. The insurance co. admitted the
claim for ¥ 15,000. After receiving the goods B spent X 3,450 on carriage, ¥ 500 on selling
expenses and T 500 on godown rent. B was allowed a commission of 5% on sales (including
2% commission as del credere). 3000 kg. of tea were sold at I 64 per kg. 25 kg. of tea

were lost due to breakage of a chest which was considered to be normal.

Prepare Consignment Account, Consignee Account and Goods Lost in Transit Account
in the books of A. 5+3+2=10
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